1) Najdéte inverzni funkci k danym funkcim a také urcete jejich defini¢ni obor a
obor hodnot.

2x—-1
3x+5

Q) y= b) y=10"° ¢ y:li d) y=1+sin(x+7z) e) y=log(x-1)+2
—X
Reseni:
a)Y=1+5X,Df=Hf‘1=R—{—§},Df‘1=Hf:R—{Z}
2-3X 3 3

b)y =log,, x+3,Df = Hf * =R, Df * = Hf =(0;0)

¢)y = *=2 Df = Hf * = R— {1}, Df * = Hf =R {0}
X

d)y =arcsin(x—1) —z,Df = Hf * = <—g7z,—%7r>, Df * = Hf =(0,2)

e)y =10*? +1,Df = Hf * = (L,w0),Df * = Hf =R

2) Urcete defini¢ni obory funkei:

. | —2x
a) arcsin(2 — 3x), b) arccos ,
. 1 .3 —2x
¢c) arcsin , d) +/3— x + arcsin ,
2x — 1 5
e) arcsin(l —x)+Inlnx, f) arcsin ; + In(x? — x),
In(2x — 3) .ox—4
g) 2—1 + arcsin h) arccos(2x — 5),
X —
ReSeni:
a) [1/3,1]. b) [—3/2,5/2], ¢) (—o0,0]U[l,+00), d) [-1,3].
e) (1,2], f) (1, 5]. g) (3/2,11], h) [2, 3],



